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NEW QUESTION 1

Given:

public static vold main (Stringl[] args)
String ta = "A ";
ta = ta.concat ("B ") ;
Stirrng £h = HC M

ta = ta.concat (th)

ta.replace (TCT, TDT);

ta = ta.concat (th)

System.out.println (ta) ;
1

What is the result?

A.ABCD
B.ACD
C.ACDD
D.ABD
E.ABDC

Answer: C

NEW QUESTION 2
Given the content of three files:

A.java:

public class A {
public void af() {}
int a;

B.java:

public class B |
private int doStuff () ({
private int =® = 100;
return =+t++;

C.java:

import java.io.*;
package pl;
class A |

public woid main(String fileName)

}

Which statement is true?

A. Only the A.Java file compiles successfully.
B. Only the B.java file compiles successfully.
C. Only the C.java file compiles successfully.
D. The A.Java and B.java files compile successfully.
E. The B.java and C.java files compile successfully.
F. The A.Java and C.java files compile successfully.

Answer: A

NEW QUESTION 3
Given the following main method:

public static void main(Stringl] args)

int num = 5;
do

System.out.print (num-—- +" ");
v owhile (num == 0);

'
What is the result?

A.543210

B.54321
C.421
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D.5
E. Nothing is printed

Answer: D

NEW QUESTION 4
You are asked to develop a program for a shopping application, and you are given this information:

> The application must contain the classes Toy, EduToy, and ConsToy. The Toy class is the superclass of the other two classes.
> The int calculatePrice (Toy t) method calculates the price of a toy.

> The void printToy (Toy t) method prints the details of a toy.
Which definition of the Toy class adds a valid layer of abstraction to the class hierarchy?

A
public abstract class Toy{
public abstract int calculatePrice (Toy t);
public vold printToey (Toey t) { /* code goes here */ }
i
B
public abstract class Toy |
public int calculatePrice (Toy t)
public wveid peintToy (Toy t)
!
C
public abstract class Toy |
public int calculatePrice (Toy t);
public final voild printToy (Toy t){ /* code goes here */ 1}
i
D
public abstract class Toy {
public abstract int calculatePrice(Toy t) { /* code goes here */ 3
public absztract weid printTey(Tey t) { /* code goes here =/ )
!
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 5
Given the definitions of the MyString class and the Test class:
package pl:
class MyString {
String msg:;
MyString (String msg) {
this.msg = msg:;

Test.java:

package pl:;
public class Test {
public static void main(String[] args) {
System.out.println("Hello " + new StringBuilder("Java SE 8")):
System.out.println("Hello " + new MyString("Java SE 8") .msqg):

}

What is the result?
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A

Hello Jawva SE B
Hello Jawva SE 8

Hello java.lang. 8tringBullder@<<hashcodel>>
Hello pl.MyString@<<hashcodel>>

Hello Java BE 8
Hello pl.MyStringl«<<hashcoder>

=

Compilation fails at the Test class

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: D

NEW QUESTION 6
Given the code fragment:

public static vold main(Stringl[] args) |
Short =1 = 2Z00;
Integer g2 = 400;
Long =3 = (long) =1 + =22; Ffline nl
String =4 = (String) (=23 * =2); filine nZ
System.out.println("Sum iz " + =4);

}

What is the result?

A. Sum is 600

B. Compilation fails at line n1.

C. Compilation fails at line n2.

D. A ClassCastException is thrown at line n1.
E. A ClassCastException is thrown at line n2.

Answer: C

NEW QUESTION 7
Given:

public class App |
int count:
public static void displayMsg () ({
count++; // line nl
System.out.println ("Welcome “+"Wisit Count: “+count); // line n2

ic void main (String [] args) {
ayMsg (): // line n3
ayMsg ()7 // line ni

What is the result?

A. Compilation fails at line n3 and line n4.

B. Compilation fails at line n1 and line n2.

C. Welcome Visit Count:1Welcome Visit Count: 1
D. Welcome Visit Count:1Welcome Visit Count: 2
Answer: B

NEW QUESTION 8

Which two are benefits of polymorphism? (Choose two.)

A. Faster code at runtime
B. More efficient code at runtime
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C. More dynamic code at runtime
D. More flexible and reusable code
E. Code that is protected from extension by other classes

Answer: BD

NEW QUESTION 9
Given the code fragment:

public static veoid main(String[] args) {
TRt J1 = 0
ank T = %
Fars (i1 = D 13 5 39 dp 33 o= 39 £ 2
gyveten. out. . printhfil ¥ " "y

}

What is the result?

A 24

B.0246

C.024

D. Compilation fails

Answer: C

NEW QUESTION 10
Which two statements are true about Java byte code? (Choose two.)

A. It can be serialized across network.

B. It can run on any platform that has a Java compiler.

C. It can run on any platform.

D. It has “.java” extension.

E. It can run on any platform that has the Java Runtime Environment.

Answer: AE

NEW QUESTION 10
This grid shows the state of a 2D array:

o o

X

The grid is created with this code:

char[][] grid = new char[3][3];
grid[1][1] = “X’;

grid[0] [0] = *0*;

grid[2][0] = “X’;

grid[0][1] = *0';

grid[2][2] = ‘X’;

grid[1][2] = *0;

{f/line ni

Which line of code, when inserted in place of //line n1, adds an X into the grid so that the grid contains three consecutive Xs?

A. grid[2][1] = *X;
B. grid[3][2] = X’;
C. grid[3][1] = ‘X
D. grid[2][3] = ‘X’;

Answer: D

NEW QUESTION 12

Which three statements are true about exception handling? (Choose three.)

A. Only unchecked exceptions can be rethrown.
B. All subclasses of the RuntimeException class are not recoverable.
C. The parameter in a catch block is of Throwable type.

D. All subclasses of the RuntimeException class must be caught or declared to be thrown.
E. All subclasses of the RuntimeException class are unchecked exceptions.

F. All subclasses of the Error class are not recoverable.

Answer: BCD

NEW QUESTION 15
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Given the code fragment:
gbstract class Toy |
int price;
/4 line nl
i
Which three code fragments are valid at line n1?
A
public static void insertToy ()
/* code goes here */

B
final Toy getToy() {
return new Toy():
}
C
puklic wvoid printTov():;
D
public int calculatePrice() {
return price;
}
E
public abstract int computeDiscount();
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: CDE

NEW QUESTION 18
Given the code fragment:
public static void main(String[] args) |
LocalDate date = LocalDate.of (2012,
date.plusDays (10) ;
System.ocut.printlnidate) ;
h

What is the result?

A. 2012-02-10

B. 2012-02-11

C. Compilation fails

D. A DateTimeException is thrown at runtime.
Answer: D

NEW QUESTION 23
Given the code fragment:
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abstract clas=s Planet |
protected void revolwe ()

}

ab=ztract wvold rotate () ;

clazss Earth extends Planet |
vold revolwve ()

}

protected wvoid rotate() |
i
}

Jiline

Filine

Filine

Filine

nl

nZ

n3

nd

Which two modifications, made independently, enable the code to compile? (Choose two.)

A. Make the method at line n1 public.
B. Make the method at line n2 public.
C. Make the method at line n3 public.
D. Make the method at line n3 protected.
E. Make the method at line n4 public.

Answer: CD

NEW QUESTION 27
Given the code fragment:

public static void main(String[] args)

String myStr = "Hello World ™;
myStr.trim() ;
int il = myStr.indexOf (™ ");
System.out .println (il);

}

What is the result?

A. An exception is thrown at runtime.
B.-1

C.5
D. 10

Answer: A

NEW QUESTION 32
Given:

public clas=ss Test |

int x, v;

public Testiint =, int y) |

initializs(x, ¥y);

public void initialize(int =, int y)

this.x = = * =;

thiz.y = y * y;

public static voilid main(String[] args)

int = = 3, v = 5;
Test cbj] = new Test(x, v);

System.cut.println{x + “ ™ + y);

}

What is the result?
A. Compilation fails.
B.35

cC.00

D.925

Answer: B

NEW QUESTION 35
Given:
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public class Test |

public static vold main(String[] args) |
Test t3 = new Tesat();
System.out.print (isAvailable + ™ “);
izivaillakle= ts.doStuff () ;
System.out.println(ishvailable);

ki

public static boolsan doStuff ()
return lisAvailakls;

h

static boolean i1sfvailakle = false;

}

What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: B

NEW QUESTION 38
Given:
class Student |
String name;
public Student (String name) {

this.name = name;

public clas=ss Test |
public static void main(String[] args) |
Student [] =tudsnts = new Student[3]:
students[1l] = new Student (“Richard”™);
studentza[Z2] = new Student (“"Donald®™) ;
for (Studsnt = : atudents) |

System.cut.println (™" + =.name);

}

What is the result?

A. nullRichardDonald

B. RichardDonald

C. Compilation fails.

D. An ArraylndexOutOfBoundsException is thrown at runtime.
E. A NullPointerException is thrown at runtime.

Answer: E

NEW QUESTION 40
Given:
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class Caller
private void init {) {
System.out.println(™“Initialized”);

private void start () {

init():
System.ocut.println (“Started”) ;
}
}
public class TestCall {
public static void main(String[] args) {
Caller c — new Caller{):
c.start ()
c.init () ;
}
}

What is the result?

A. An exception is thrown at runtime.
B. InitializedStartedInitialized

C. InitializedStarted

D. Compilation fails.

Answer: D

NEW QUESTION 43
Given the code fragment:

3. public static wvoid main(sString[] args) {

s int x = 6;

3, while (isaAwailable(®)} {

6. System.out.print (x);

7.

3. }

9. 1

10.

11. public static boolean isAvailable{int =) {
12 return ——-x > 0 2 true :[ false;

13. 1}

Which modification enables the code to print 54321?

A. Replace line 6 with System.out.print (--x);

B. At line 7, insert X --;

C. Replace line 5 with while (is Available(--x)) {

D. Replace line 12 with return (x > 0) ? false : true;

Answer: C

NEW QUESTION 47
Which statement best describes encapsulation?

A. Encapsulation ensures that classes can be designed so that only certain fields and methods of an object are accessible from other objects.

B. Encapsulation ensures that classes can be designed so that their methods are inheritable.

C. Encapsulation ensures that classes can be designed with some fields and methods declared as abstract.

D. Encapsulation ensures that classes can be designed so that if a method has an argument MyType x, any subclass of MyType can be passed to that method.

Answer: A

NEW QUESTION 48

Given the code fragment:

LocalDate datel = LocalDate., nowil)

LocalDate date2 = LocalDate.of (b, 20, 2014 )

LocalDate dated = LocalDate.parse ("2014-06-20", DateTimeFormatter.IS0O_DATE) ;

System.out.println("datel = " + datel);
Syztem.out.printlni("dates2 = " + datel):
System.out.println("dated = " + dated):

Assume that the system date is June 20, 2014. What is the result?
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A
datel = Z014-06-20
datelZ = Z014-06-20
date3d = Z014-06-20
B

datel = 06/20/2014
dateZ 2014-06-20
date3 = Jun 20, 2014

C  Compilation fails.

D An exception is thrown at runtime.

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 53
Given:
clazs Wehicle |
int =;
Vehicle ()4
thi=(10); // line nl
i
Vehicle (int =)
this.x = x;

}

class Car extends Wehicle |
int v
Cari) {
super () ;
this (20) ; /4 line nZ
H
Cariint w) {
thiz.yv = v;
H
public String te String()
return super.x + ":" + this.v;
H
'

And given the code fragment:
And given the code fragment:

Wehicle v = new Cari);
gystem.out.println (v ;

What is the result?

A. 10:20

B. 0:20

C. Compilation fails at line n1
D. Compilation fails at line n2
Answer: D

NEW QUESTION 57
Given the code fragment:
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public static veoild main{Stringl[] args)
int[][] arr = new int [2] [4]:

a2rr[J] = new int [141, 3, 5, 71:
arr[l] = new int []141, 3}:
for (int[] a arr)
for (int 1 : a)
System.out.print(i+ » ™) ;

System.out.printlni);

h
What is the result?

A Compilation fails.

l_ i

'_\.
(o L

1 3
followed by an ArrayIndexOQutOfBoundsException

[
(W)

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: E

Explanation:
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NEW QUESTION 60
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